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Anode Current is over!!!

4/27 12:00 – 5/7 9:30

5/7 9:40 daq stop
9:57 anode Voltage down 426 events
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=  20.812χ

distance(f-f) = 1.00 cm
path length = 1.55 cm
FADCsum = 654.2

rms(a-d) = 36.05mm
rms(c-d) = 36.05mm

drift velocity = 7.0cm/us
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=  17.582χ

distance(f-f) = 1.00 cm
path length = 3.82 cm
FADCsum = 784.6

rms(a-d) = 30.45mm
rms(c-d) = 30.45mm

drift velocity = 7.0cm/us
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=  5.862χ

distance(f-f) = 1.00 cm
path length = 2.06 cm
FADCsum = 278.4

rms(a-d) = 10.15mm
rms(c-d) = 10.15mm

drift velocity = 7.0cm/us
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=  6.062χ

distance(f-f) = 1.00 cm
path length = 1.97 cm
FADCsum = 851.5

rms(a-d) = 10.50mm
rms(c-d) = 10.50mm

drift velocity = 7.0cm/us
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=  6.472χ

distance(f-f) = 1.00 cm
path length = 0.43 cm
FADCsum = 766.0

rms(a-d) = 11.20mm
rms(c-d) = 11.20mm

drift velocity = 7.0cm/us
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=  5.252χ

distance(f-f) = 1.00 cm
path length = 9.73 cm
FADCsum = 1187.9

rms(a-d) = 9.10mm
rms(c-d) = 9.10mm

drift velocity = 7.0cm/us

NA_anal 30LAuPIC_1 20180427 per1

file 16 event 1
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nhit : 33
=  7.482χ

distance(f-f) = 1.00 cm
path length = 13.94 cm
FADCsum = 1025.3

rms(a-d) = 12.95mm
rms(c-d) = 12.95mm

drift velocity = 7.0cm/us
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